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FIGURE 5.16 The value f(¢) in the
Mean Value Theorem is, in a sense,
the average (or mean) height of f on
[a,b]. When f = 0, the area of the
rectangle is the arca under the graph of
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5.4

Total Area

To find the area between the graph of y=f(x) and the x-axis over the interval [a, b]:
i Subdivide [a, b] at the zeros of f

ii. Integrate f over each subinterval

iii. Add the absolute values of the integrals

Find the area of the region between the x-axis and the graph of f(x) = x3 — x? — 2x, -1<x<2.
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